Jdo20000000200000000000 0

00 do(@ooooooooooon)
00 do(oooboooogoooo)

20000 120 201



Oo200000000000

000000 JacobianU 00000 oooooodoodoooon
0000 le0bitd 0o ooooooooonooo

e DO OODOOD200000000000

— P. Gaudry and R. Harley, 2000
SchoofUODOUOOOOOOOODODOOOO

200000000

— P. Gaudry and E. Schost, 2004
DO0ddooog8obitd oo oodon
2000000 dgd e nooooggd



FrobeniusUUOOOOOOOO Jacobian [ [

e p: UIDOOF,00000D00DO2000000:

C:Y?=F(X), FeFy[X]: monic, degF =5, F,000

e JacobianO pO FrobeniusO O ¢p :Jog—Jco ODODOOODO:

X(X) =X* — 51 X3 4+ 55X?% — ps1X + p? € Z[X],
51| < 44/p, |s2] < 6p

e JacobianU F,-0000ODOODO::

tJo(Fp) = x(1)



FrobeniusOUUOOO4OoOooOOOOO
O00n>10000n00000000 Jelnl OODOODOO

ptnd000¢,0Jo[n]00000000000000

$(X) = x(X) mod n € Z[X]
HRERERE

x(X)O0oooo[o,n—1]000000

[x(¢p) mod n]D = 0 for "D € Jo[n]
ERERERERERERERERERERERERERE



Gaudry HarleyO O OO odoooooood

1. p0000D0000¢40000004'0000
x(X) mod £
0ooooo

2. 000000000000x(X) mod ;4000

3. #Jc(Fp) = x(1) mod [[; 40 0 #Jo(Fp) 0 O O

1.0000000x(X)mod2k000 - 200000000000




Gaudry HarleyO x(X) mod 2000000000

Input: O0OOm>10000002000000C
Output: x(X) mod 2™ € Z[X]
cOodoooroou0odDioboon
- [x(¢p) mod 2Dy = 000000 x1(X) :=x(X) mod 2000
for k=1tom—1do

[2]Dpy1 =D,00000 Dy, 00000 (200)

Xk(X) = xp41(X) mod 2%, x4 11(8p)(Dpy1) = 000000

Xk+1(X)O OO
6: return y,(X)

A

x(X)mod2mOODOOOOODO200000000000



Gaudry HarleyO 2000000000 O00OO0OO

Dy € Jo[2FIOF,/Fp: D,000000000

Dy, = (X2 + u1 X + ug,v1.X + vg), u1,ug,v1,vq € Fy
[2]D=D,00000 DO weightD 2000

D := (X2 4+ U1 X 4+ Uy, i X +Vp), Uy,Ug, V1,V : OO

(Vi X 4+ Vp)2 — F) mod (X2 4+ U1 X 4+ Ug) =G1X + G = 0,
G1,Go € Fq[Uy, Ug, V1, Vo]

[2]D =(X2 + H1X + Hp, H3X + Hy) = Dy,
H; € Fe(U1,Up,V1,Vp), 1 <i< 4



Gaudry HarleyO 200 000000000000

[2]D =D, 000000

G1(U1,Up,V1,Vo) =0, G2(Uy,Ug, V1, Vo) =0,
Hl(Ula U07V17 VO) — Uuj, H3(U17 UO7V17 VO) — U1,
HQ(Ula UO> V17 VO) — U, H4(U17 UO) V17 VO) — V0

Vo= Vi1 >-Up>=U10000 Grobnerd 0

( Vo — Lo(Up) =0,
Vi—L1(Up) =0,
Ug — Mp(U1) = 0O,
| M1 (U1) =0
Lo, Ly, Mg, My € Fq[Ul], deg Mp,deg L1,deg Lg < deg M1 = 16

D, € Jo[2¥], k0DODODDO0OO0D,0000000F, 00000000
L M0000F,0F,000000000000000




Gaudryl Schost M UO0000000O00O0O

M;O00D0O0ge€eJo[21000

Do :=(X? 4+ U1 X + Mo(U1), L1(U1)X + Lo(U1)) € Jo(FqlU1]/(M1))
Dy :=Dg—+g
=(X2+ U X + 0§, VP X + V) € I (FU1]/ (M)
UéQ)7 UC()g)7 Vl(g)7 VO(g) c Fq[Ul]/(M:l)

_U¥(U)ooonoM 00004000000

000G CJo[2100000

sa(Uy) = Y U9 (Uy) € Fy[U]/(My)
geG

0F,000000000000(Jc[2]:G]



Gaudryl Schost MjO0000o0ooooon

Jo[2] = (Z/22)* D Gz ~ (Z/27)3 D Go ~ (Z/27)?
D G~ (Z/27) 2 Gg ~ {0}

sa3(U1), sq,(U1), sq,(U1), sg,(U1) = Uy € FglU1]/(M7)

sq4(U1) — T3(X3) € Fg[X3]
sq,(U1) — To(X3, X2) € Fg[X3, X5]
sq,(U1) — T1(X3, X2, X1) € Fg[X3, X0, X1]
sGo(U1) — To(X3, X2, X1,Ur) € Fg[X3, Xo, X1,U4]
degx, T3 = degx,To> = degx, 11 = degy, Tp = 2
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Gaudryl Schost M O0000000O000¢nO

SG3(U1)D F, 0000000 T3(X3)0 0O a3

— SGQ(Ul) [] Fq(oz:g) 0000000 Th(az, Xo)OO as

- SG1(U1)D Fq(a3,a2)D Ooooon Tl(()é3,()42,X1)D [] aq

- SGO(Ul) 0 Fqlaz,ap,a1)0000000 To(az,ar,a1,Ur) -~ M1 00

leU0d M;OUO0400 2000000000000
2000000000000 ooonood

-Th, Ty, ToUOF,000000000000000000000
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MOOOOOoOoooono

20000000000000160000 M0000000
e J0OODOOOOD: 11<p<6l

e DpOdolo000O0OOOODDOC/F,000

e 0CO200000D;, 3<k<sonoomM®oooo

™ oooooooooooo
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M OODODOOoOoooooooao

20000080000l iled ooy

1000000000 dog

K\p |11 |13 |17 (19|23 |29 |31 |37 |41 43|47 |53|59|61
3 033|268 0| 0|23 0|25|31| O] O0|32| 0|23
4 o, 6y r{ 60f 60 0] 0| O] 6f O] O] O] O] O
5 o, 6y 6f 6f 60 0] O O] O O] O] O O] O
6 c, 6y 6f 6f 60 0] O O] Of O] O] O O] O
4 o, 6y 6f 6f 60 0] O O] O O] O] O O] O
3 o, 6y 6f 6f 6f 0] 0| O] O O] O] O O] O

M; e Fy[U1]0000F, 0002000000000

= 4002000073, Tp, T, 10000010000
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20000000 G1,Go,G3000000

M, e Fy[U]000F,020000000
= T3, To, Ty: F,000, Tg: F,000 000000

200000000GogCG1C G CG3CIo[2] ~(Z/22)*0 0

Go =1{0} € G1 = (91) € G2 = (91, 92)
C G3 =1(91,92,93) S Jcl2] = (91,92, 93,94)
0000 (91,92,93,94)0000000

_Ts, T, Ty, ToOOOODOOOOOOO
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200000 J,[2]0000000

To € FylU1] = ThOO a7 € Fy
T100sg,(Uy) =U1 +UYY(U)000000
U0 U (U)o My0000000

Ufg)(Ul) = U{ mod M,
00000 gelJo[2)\{0}00000

Go ={0} C G1 =(g9) € G2 = (g,92)
C Gz =(9,92,93) € Jcl2] = (9,92, 93, 94)
= T3, 1>, T7: FqD 0, Toi FQD HRpN
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U$9(U) = U9 mod M;00DO020000¢00000

000000000: 11 <p<61

OpOOO00O100000000000C/F,000

Je[210000 (91,92,93,94) O (91, ¢p(91), 5 (91), #5(91)) 0 O O

20000g¢; € Jo[2]000000C
(2" 1D, =g1, 3<k<8
000200000, 0000000
U9(Uy) = U mod My, M € Fy[Uy]
00000200004 € Jo[2]000
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U9 (Uy) = U¢ mod My 00000 ¢0D000000

p\k 3 4 5 6 780000
11 ga + g3 — — — — | — 44
11 | ga+g93+ 91 — — — — | 56
13 g1 — — — — | — 45
13 0/93 + g2 g3 + g0 — — — | — 12
13 | 0/g3+92+91 | 93+ 92+ 91 — — — | — 16
13 0/94 + g2 ga + g2 — — || 9
13 | 0/ga+92+91 |94+ 92+ a1 — — || = 18
17 0/91 91 — — | —]—] 69
17 0 0 0 st | — | < 1
17 0 0 0/9a+ 92 | ga+go| « | 3
17 0/94 + 93 0/94 + 93 g4 + 93 — — | — 20
17 | 0/ga+93+91 | 9a+ 93+ 0 — — || = 7

Jol2] = (91,92, 93,94), 281Dy, = g1
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U$9(U7) = U9 mod My 00DDO g0 kDO DO

e 19<p< 610000000000
000020000 u00o0ooooR-Dp, =g 000002500
N0 D,0000U(U;) =Ufmod M;0000020000g # 000

E>2000000

L U¢mod M;000000000(F,:F0000000100000000
k00000000 UYmod M;0000000000000O
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200000000000 oooooooobod

Input: m € N>o, C:HEC, g1 € J¢[2], D> € Jo[22]s.1.[2] Do = g1
Output: D, € Jo[2™]
- (91, 6p(91), 95 (91),¢5(91))00 0D DD0G, 000
. flag < false
for k=3 to m do
k = k
Dj,_100 M{® € Fy[U1], Dy € Jo(FqlU]/ (M) D00
D,, G;OO0O0O0OD0020000 D000
if flag=false0 00D, ¢ Jo(Fy) then
flag < ture
U9 (U)=u9 mod MPoonoogooo
(9,95, 95,9,)00000000G;0000
return D),

© 0N R N RE

[
Q
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Joooooooboodd

p =05 x 10%% 4 8503491

C:Y?2= X%+ 2682810822839355644900736X°3
+ 226591355295993102902116 X2
+ 2547674715952929717899918X
+ 4797309959708489673059350

e Magma V2.12-22

e CPU: Athlon64 2.4GHz

00000000 | D3 | Da| Ds| Dg| D Dg Do D10
G,000000 | 39| 93|354|684 | 4062 | 17716 | 65665 | 360224
G,000000 | 45| 55| 288|326 | 921 | 4950 | 21648 | 83718

00 (0)
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HREEN

e 20100OO D, O0DUUL20UU D020 00000O00O0O00

e U(U1) =U%mod M;0000D0g0OO0L

G1=(9) & G2=1(g,92) C G3 =(g,92,93) = Tpo : F,0 00
JoddoododMoodoodoooon

o U9(U)=UImod M;0000020000¢000000000 200
0000000020000 D, 000000000k000000
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